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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions No. 1 to 10 should be in 150 words, whereas answers to Questions
No. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.
Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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7.

wE w5 woEwem aedr A1 f o gffea 9w R F wle sien W
wifafies =t & 1 (150 =51 # SWT)

How will you explain that medieval Indian temple sculptures represent the social
life of those days ? (Answer in 150 words) 10

sftriy s faafedt awh S ifem @ 0 99 aoEEE ARAT a6
TeEe # wfiE st Aeak gafewd A ¥ waR Sadl @ ? SR F@r |
(150 w=at # I %)

Why did the armies of the British East India Company — mostly comprising of
Indian soldiers — win consistently against the more numerous and better equipped
armies of the then Indian rulers ? Give reasons. (Answer in 150 words) 10

Aufrafirs wra $ seredl vaEd § 7o § b e ggt #§ o sEEs 3fg e
&1 faedt & 7 Fwo =and | (150 =51 # I F)

Why was there a sudden spurt in famines in colonial India since the mid-eighteenth
century ? Give reasons. (Answer in 150 words) 10

i gt B il oy & i fifm ) (150 w= § IR E)
Describe the characteristics and types of primary rocks. (Answer in 150 words)
10

e wew s fasmr g Swas wan g & fog den-weedt SamatEt §
fom fuffa v & ad & 9=f =) (150 9= § IWF)

Discuss the meaning of colour-coded weather warnings for cyclone prone areas
given by India Meteorological Department. (Answer in 150 words) 10

‘A 3 B v seeE-weEe o s=t fifw ) (150 9= S R)

Discuss the natural resource potentials of ‘Deccan Trap’. (Answer in 150 words)
10

WA # gaT It & gaE & e fife @ 9 difm o faer $ s
F TR | (150 =R # TR D)

Examine the potential of wind energy in India and explain the reasons for their
limited spatial spread. (Answer in 150 words) 10
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10.

11.

12.

13.

14.

uiiaria werdl T 'ad W BW F ww i IEEE T9 giEA a8 | e
(150 st ¥ T )

Explore and evaluate the impact of ‘Work From Home® on family relationships.
(Answer in 150 words) 10

U Gerf % fadw oftew # w9 wamt & owR @ dw 2 9w @ fEw
form e watm ® 7 (150 w=1 | I 2)

How is the growth of Tier 2 cities related to the rise of a new middle class with
an emphasis on the culture of consumption ? (Answer in 150 words) 10

HRA % werE wEE B Al @ 3w e e fifie aef ¥ sl R
feet we At & wn s wfew 7 (150 9= F SR E)

Given the diversities among tribal communities in India, in which specific contexts
should they be considered as a single category ? (Answer in 150 words) 10

T UF VR eI SR werEe gt Sefedl gaed & wer @ s
I W U i ® | S wfed few wt ) (250 9= # s )

The political and administrative reorganization of states and territories has been a
continuous ongoing process since the mid-nineteenth century. Discuss with
examples. (Answer in 250 words) 15

AR 9o #R wegf # W-we ok S9-FW F aveE | oSS #'t |
(250 w7 § I 3)

Discuss the main contributions of Gupta period and Chola period to Indian heritage
and culture. (Answer in 250 words) 15

wiAE iy, @ iR avgEen d fiw va g & wefEl § v ® AR =1
(250 s=a1 # ¥R 3)

Discuss the significance of the lion and bull figures in Indian mythology, art and
architecture. (Answer in 250 words) 15

A gRE W Wil @A aEt afet @9 @ B 2 e F aem-sam d
AWEE & 90 &K | (250 =R # SR E)

What are the forces that influence ocean currents ? Describe their role in fishing
industry of the world. (Answer in 250 words) 15
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15.

16.

17.

18.

19.

20.

* W IS oul F o @ o w0 gw o qu e 5 oW 9w wae

yafacia g2 @t i fifsm | (250 = F IwE)

Describing the distribution of rubber producing countries, indicate the major
environmental issues faced by them. (Answer in 250 words) 15

dactdia =mR # sy 7 weEy % vee W gwa fifo |
(250 w=a & I )

Mention the significance of straits and isthmus in international trade.
(Answer in 250 words) 15

AivHEe Agied & UF Wewqu 9 & o dvew wfee w8 fuifa @ )
F9 7 (250 v=m) # IW F)

Troposphere i1s a very significant atmospheric layer that determines weather
processes. How ? (Answer in 250 words) 15

AT T 7 ol # ar o & eweek uw & R f fEem St )
(250 w=ar | Fo B)

Analyse the salience of ‘sect’ in Indian society vis-a-vis caste, region and religion.
(Answer in 250 words) 15

T afewpEr, wffeE @ T g oW € W s § wwda w1 @ fwin
A § 7 a%eTE I g | (250 W=l H I ¥)

Are tolerance, assimilation and pluralism the key elements in the making of an
Indian form of secularism ? Justify your answer. (Answer in 250 words) 15

Fyaty gael & g # spedieRw e qu aes & e @ e & fasw
oW # TE & | (250 wEE W IR )

Elucidate the relationship between globalization and new technology in a world
of scarce resources, with special reference to India. (Answer in 250 words) 15
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